Physics 11 Vector Trigonometry Assignment

1. Find the sum algebraically of the following vector pairs.  For three of them also find the vector sum through a scaled diagram of the vectors.

a. 3.0 m North and 4.0 m east

b. 17 N east and 35 N south

c. 6.7 m/s (x axis) and 7.6 m/s (y axis)

d. 17.0 m/s parallel to ground and 125 m/s into the ground

e. 8.00 m/s upwards and 7.00 m/s along the ground

2. Find the components of the following:

a. 35 m/s 25° above the horizon

b. 155 N 60° North of west

c. 235 m at 12° above the horizon

d. 135 m at 45° South of east

e. 62.7 m/s 78° away from vertical

Answers:

1. 
a. 5.0 m 53° E of N


b. 39 N 64° S of E


c. 10 m/s 49° (to +y axis from the +x axis)


d. 126 m/s 82° below horizon


e. 10.6 m/s 48.8° above horizon

2.
a. 15 m/s upwards, 32 m/s along ground


b. 134 N North, 77.5 N West


c. 48.8 m upwards, 230 m along ground


d. 95.5 m South, 95.5 m East


e. 61.3 m/s along ground, 13.0 m/s upwards

